(4) B BREEHR (T 6FEEMH)

AR TEEEH B=E [(B)/(A)
o as FEEE . . . + | BFHE [(B)/(A
=k = Sl A TER | 28R | 3FER | 4FER ==tm) | %

EEEE-Xe=EF 350 1 4 2 4 1] 3.1%
Sy B BB 395 2 6 1 5 14|  3.5%
+H INGEEESS! 337 1 6 0 3 0] 3.0%
&t 1082 4 16 3 12 35| 3.2%
BYEEZE 249 0 2 0 0 2] 0.8%
BYEERZEN (RBELFER 135 0 0 5 2 7] 5.2%
= 384 0 2 5 2 9] 2.3%
s EEEEZEE 415 2 6 4 3 15]  3.6%
el — 415 2 6 4 3 5] 3.6%
& &t 1881 6 24 12 17 59  3.1%
wZ 1. EEZFRISA1BRERH.
2. BREEHICKREZEEZSD,

A KEKRERE — ‘

e T ERTR 1ax | omm | asm |y | O

HAE -HAXFHEHK 0 0 0 0 0.0%

XEMER ([RE-UEMFEK 14 0 2 2] 14.3%
BLIai-1eL [BEROEZREL 16 0 1 1 6.3%
= 30 0 3] - 3] 10.0%

HAE -HAXFHEHK 0 0 0 0 0 0.0%

XEMER ([RE-UEMFEK 1 0 0 0 0 0.0%
L&A XALBAFEEK 0 0 0 0 0 0.0%

= 1 0 0 0 0 0.0%

BYXEHE (BYEXEZFEKX 4 0 0 0 0.0%
MEREMEL B 4 0 o - 0 0.0%
& &t 35 0 3 0 3 8.6%

A RFER RS — ‘

1% e T ek EEY PES L
BYxER 79 0 0 o] 0.0%
DEHER 392 6 2 8l  2.0%

= 471 6 2 8l  1.7%
. EHEEK 27 4 0 4] 14.8%

ek = 27 4 0 4] 14.8%

& &t 498 10 2 12  2.4%




	退学者数 (情報公開)

